Year 1 Addition and Subtraction Fluency Bronze 7/1/21
WALT: add by counting on

14a. Lara starts on 8.

She counls on 2.

112|333 |4|5|&|7F|a8a]F |10

what number will she land on?

'T'.'_?

2a. True or false?
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1. There 2 Next3Amore 3 Mow there
were & birds flew down. are ¥ birds on
on a fence. afence.
o7

3a. Use the sentences to help you fill in
the part whole model.

At the start of the show

Y there were 5 clowns.
/k Then 1 more joined the
5 Qroup.
I\'—”,ll II""“—""II MNow there are &

. clowns.

4a. Complete the senftences.

Thereare[ | [ [moreare The folal is
Mumicon. added. []-
\Trd

e

Year 1 Addition and Subtraction PS & R Bronze 7/1/21
WALT: add by counting on

1a. s5al has 4 jewels.

He is given some more. |

: 10
Now he has 8 jewels.
J Cl})
How many jewels was he given?
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2a_ Which is the odd one oul?

Explain wihy.
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3a. Kaya starls on 1 and adds on & more._
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Kaya says:

L —

[___:___.-;___—l—+ b=6

Is she comect? Explain why.
e




Year 1 Addition and Subtraction Fluency Silver 7/1/21
WALT: add by counting on

Year 1 Addition and Subtraction PS & R Silver 7/1/21
WALT: add by counting on

5a. Pal starks on 12

she counis on 5.

1IF|11 121131415 1&| 17| 18| 1F | 2D
what number will she land on?
Ty F
L=f
4a. True or false?
.
4 4J L dJ dr iy g
TN oy i o £
- oy -
1. Thesre 2 Nextd more 3. Mow there
were 3 fish are added. are 14 fish in
in the bowl. the bowd.
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7a. Use the sentences to help you fill in
the part whole model.

At the start of the day
there were 10 children.

Then 3 more joined the
Qroup.

Mow there are 13
A children.

8a. Complete the sentences.

The folal is
Hurrm:crn

oy

lther.:IEEl [ more are
added.

4a. Mick has 11 cookies.

He is given some more.

B |
e &
Mow he has 15 cookies. L
B
How many cookies was he given?
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5a. Which is the odd one oul?
Explain wihy.
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&a_ Millie starts on 13 and adds on 5 more,

1@ 171 12 13 14 15 1& 17 18 1% 20
Millie says:

[ l[ 13+5=19 ]
o f

Is she comect? Explain why.




Year 1 Addition and Subtraction Fluency Gold 7/1/21
WALT: add by counting on

0. Jess starts on §.
the cowvnis on 7
the couvnis on 5.

T8 |F 10U I2N03 0215|1417 16| 17|20

what number will she land on?

10a. True or false?

"| I d | i
1. There 2 Hext 7more 3. How fhere
werne ¥ birds flew diowm. are 18 birds on

onafence. Then 2 jumped afence.
on fhe fence.

11a. Use the sentences to help you fill In
the part whole model.

At the start of the day
there were 7 chicks.

-,
¥ more hafched.

9 Then 4 more hatched.

AN

How there are 20 chicks

12a. Complefe the sentences.

Year 1 Addition and Subtraction PS & R Gold 7/1/21
WALT: add by counting on

7a. Ed has 7 jewels.
First he is given 5 jewels. ]

Then he is given some more. || |
he h jew el ﬁ

Now he has 20 jewels.
: s,

How many jewels was he given?
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ga. which is the odd one oul?

Explain why.
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g+ 5 + J||F + £ + 2T £+ 5 + 35
.Y B [

%a_ Nic sharks on ¥ and adds on 5.
she then adds on 2 more.

F 1011 1213 14 15 14 17 18 17 20

Mic says:

L

o [ P+5+2=17
=

Is shie comect? Explain why.




